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7 Answer the questions in Chinese.
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Chal, cha4

Zhe (grammar particle,
emphasising the state
of a verb, rather than
the action)
Notice the similarities
and differences of
these two characters —
and the way different
typefaces change how
they look



Examples of use:

[} 2 = time difference = jet lag

BB ZETF2 7 I’'m nearly over my jet lag

Z 31 = a difference

ZJEMHA? = What's the difference
F—FIRE_FAMTALZER? What are the differences between a

2"d and a third tone?
ZE A% = much the same

* M=ZE+4 =10t04.00
« U Z—%| = aquarterto 4.00

« =/ Apparently, Janet, this is how you express ‘difference’ in
Maths



tianqi leng nuanhuo dongtian
1 xR ® e K

duanku  maoyi weéijin shoutao
2 JE¥E BK HIN FE

giwen chuan dai mojing
3R F M S35
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* Using the glossary below, try to read and understand the weather
forecast on the next page
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yubao chabié

ik £ 5]
qi

dadao

AL ik 3
kongqi yishang
= A AL
jiang shang
H i
yingxiang duoydn
% ) %%
bufen zhuan
Ry %

diqu qing
WX i1
shou yin
Xxiajiang . lingxia
TR T
baitian Xido
SPN 2
yejian yu
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forecast -

since, starting

(for future
3 tense, written)
YINgXIang influence:

suffer, receive,
be subjected to
XIOJI(]ng

decrease

daytime

nighttime

chabié
£ 7 difference

dadao

X reach, get
A3 upto
yishang
vl E above
shang  ahove, on
i < top of
duoyln |
597 = cloudy
zhudn
i change
qing
sunn

H_% y
yin
i overcast

. lingxia
e
T below zero
Xido
AR small

rain




